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SIAHHE 20154
Ol & Xp= 0 200 &t

AFRZ ¢ HAZA OlEB302 SHENE HFEII=
OIPNF=ENE-—F} (che: & )
= & A = X E A -
s = =g A HE =)o 5 & g = NENH HEA X =N g &

E Al 308,000 202,500 105,500 | & Al 308,000 202,500 105,500
& = =2 100,000 100,000 0|dl & &t & At & Hl 5,470 2,000 3,470
2 S =2 0 0 ol A & A & i 0 0 0
Xt e = 0 0 o)l & 2 <& i 0 0 0
I T 0 0 ol =2 =3 oW 0 0 0
o &3 &= 3 =+ 0 0 0l & = 0 0 0
o x = 3 = 200,500 100,000 100,500 | O Xl = 302,530 200,500 102,030
Oll o= = 0 0 oSl 3as 0 0 0
0l At o= 2 7,500 2,500 5,000|0l == &cla3 & & 0 0 0
| Et = 0 0 vl Et Xl = 0 0 0




AT 20154
Ofl &F Kb 201l &
SIHTE  HATA 0MBBI| AXA FHEII2
@ =& S
X .. 8 .2 A O] OH dE T = 2t At o
S = = 7 T 49 o s ° . -
200 M2 =g 7,500 2,500 5,000
210 &AM == 7,500 2,500 5,000
216 Ol At==¢ 7,500 2,500 5,000
216-01 300l A== 7,500 2,500 5,000
= 7,500,000& « 14|
700 BEE+LSLUHEAN 300,500 200,000 100,500
710 B2 S 200,500 100,000 100,500
714 Ol Xl = 3l = 200,500 100,000 100,500
714-01 OMIXI =2l 200,500 100,000 100,500
| = 200,500,000 =14
720 L= 1 cH 100,000 100,000 0
721 8= 100,000 100,000 0
721-03 JIEtSI AN Y = 100,000 100,000 0
3| 100,000, 0003 =14
= 2 g A 308,000 202,500 105,500




SIAHHE 20154
Ol & Xp= 0 200 &t

SIAFE - HAUZA OldS3012 FHENYE I3

® X&H & EEREED
EE .22 HH .09 . HSAY - BAS L e Hlm= 2t
DI 2H & ALK 2 2t 308,000 202,500 105,500
ST 5,470 2,000 3,470
SAZA OIFDIZ AEA NH HEZ Y 5,470 2,000 3,470
HASZA OIFDI2 QXY N B2 NUS(HATA OIFZBI2 YHANE =5t 3) 5,470 2,000 3,470
SASA OFD2 AR [ HE2 5,470 2,000 3,470
201 Lt A 1,470 0 1,470
01 AtRE2IHl 1,470 1,470 0 1,470
OJZHoIRE HaLT 70,0002 *701+38] = 1,470
301 LetR A 4,000 2,000 2,000
02 FASUSNI 4,000 4,000 2,000 2,000
OAMTAl OIFI2 YXA R ZES
400,0002 #1001 = 4,000

=N 302,530 200,500 102,030
WP ES (DIH AL D) 302,530 200,500 102,030
BENE(HATA BSII2)(HACTA OB AXAXY &at)|2) 302,530 200,500 102,030
HASA O™ BEI|2 ORI 302,530 200,500 102,030
602 0 XI 2 302,530 200,500 102,030
o1 GIX3 302,530 302,530 200,500 102,030
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SIAHHE 20154
Ol & Xp= 0 200 &t

AFRZ ¢ HAZA OlEB302 SHENE HFEII=
(&2 ®J)
x4 o Yoo
AT & & ol
TSl w e |myz | vx2 | gouz [3FEE | gao Ol Xt JIE ¥ @ |87 ENE |azzau |HYUZH W32 | JE | (@-@)
=== | == =S | (oxEa) e A0l 20l AHl | AFSIH] | % =30 22 as (2SYE =
20094 7t X 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20104 = 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
201149 = 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20124 = 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2013 = 100,000 | 100,000 0 0 0 0 0 0 0 0 0 0 0 0 0 100,000
20144 = 102,500 | 100,000 0 0 0 0 2,500 0 2,000 2,000 0 0 0 0 0 100,500
2015 & 107,500 | 100,000 0 0 0 0 7,500 0 5,470 5,470 0 0 0 0 0 102,030
A 310,000 | 300,000 0 0 0 0 10,000 0 7,470 7,470 0 0 0 0 0| 302,530
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4. OiXl= & U&= A
SIHAE 2015
Ol &b Xb== 0 = Ol &F
IAFE - HAEA OldSSI2 SRENYE FSII3
(9 @
OlX Ol
22 0 Xl (=) H Bl 2
20138 T & TH A 20144 =UBETHH@ 2015 =YW HD S2(®-®@)
Egl 100,000 200,500 302,530 102,030
0l Xl = A 100,000 200,500 302,530 102,030
100,000 200,500 302,530 102,030




